REVISION FOR THE SECOND TERM TEST
Exercise 1. Choose the word which has a different stress pattern from the others. (Further practice)
1. 	A. another 	B. energy 	C. example            D. develop
2. 	A. afternoon 	B. tomorrow 	C. consider            D. pollution
3. 	A. quality 	B. suggestion 	C. natural              D. yesterday
4. 	A. vacation 	B. abundant 	C. disaster             D. traveling
5. 	A. easily 	B. Netherlands 	C. countryside      D. convenient
Exercise 2. Fill each blank with the correct form of the verb in brackets.
1. When energy ___________ (come) from the wind, we call it wind energy.
2. Lan promises she ___________ (finish) her homework tonight.
3. The people in this district ___________ (use) solar energy to replace energy from coal at the moment.
4. Last night, I was watching a documentary when the light ___________ (go) out.
5. Do you think robots ___________ (replace) human in the future?
6. Tom ___________ (be) sick so he couldn’t go on the trip to Washington D.C. yesterday.
7. In my opinion, we _________ (not use) coal for cooking and heating in the future. 
8. Pete ___________ (forget) to turn off the TV after watching it last night.
9. I ___________ (look) for my car key now. I don’t remember where I left it.
10. Sonya: When ___________ you ___________ (buy) that Solowheel?
Ben:  Last month.
Exercise 3. Choose the best option to complete each sentence. Circle A, B, or C.
1. During this trip, everyone must wear a ___________ for safety.
A. handlebar               B. seatbelt                      C. panel
2. After watching the teaser of the film with lots of fairies and wizards, I guess it is a ___________.
A. comedy                   B. documentary              C. fantasy
3. People often think Santa Claus and pine trees are the ___________ of Christmas.
A. symbols                  B. performance               C. parade
4.  ___________ plastic is warned to be harmful for environment, people still use it daily due to its convenience.
A. Because                   B. Although                   C. But
5. Electric cars are becoming popular nowadays due to theirs ___________ features.
A. polluting                   B. eco-friendly                C. inconvenient
Exercise 4. Read the passage. Circle the best answer A, B, or C to each of the questions.
Last week, Mai attended a cultural exchange event for both foreign and Vietnamese students in Tao Dan Park. It was so fun and useful because she had a great opportunity to communicate with many friends from other countries. That helped Mai develop her confidence as well as improve her English. Besides, it was a good occasion for making friends and finding out about various cultures from all over the world. She got acquainted with many boys and girls from Canada, New Zealand, and the UK. Among of them, she likes two Australian twin sisters, Amelia and Amanda, most. Both are quite beautiful and friendly. After the event, surprisingly they invited Mai to their home in Melbourne. They promised to take her to see kangaroos and koalas in real life. She was very glad and accepted that invitation.
1. What is the passage mainly about?
A. A Vietnamese student’s experiences in a cultural exchange event.
B. An occasion for a Vietnamese student to show foreigners her cultural knowledge.
C. An invitation to visit an English speaking country.
2. What did that event help Mai?
A. Develop her confidence.
B. Improve her English.
C. Develop her confidence and improve her English.
3. Which of the following statements about Mai is false?
A. Amelia and Amanda are her favourite new friends.
B. She had a chance to find out about different cultures.
C. Only a few students talked to her at the event.
4. What does the word Both in line 11 mean?
A. Boys and girls.
B. The twin sisters.
C. beautiful and friendly
5. What animals will Mai be taken to see in Melbourne?
A. kangaroos and koalas.
B. kangaroos and Penguins.
C. Penguins and koalas.
Exercise 5. Complete the reading passage. Write ONE suitable word in each blank.
Many people believe that in the near future, several (1) ___________ of transport like cars and trucks will be replaced with driverless ones. Driverless vehicles are autonomous, (2) __________ drivers don’t need to control it manually. For example, passengers use their voices to order a (3) __________ car to take them to any places they want thanks to its equipped speech recognition. With the support of new technology that can calculate a safe following distance (4) __________ two vehicles, self-driving cars can react immediately and avoid dangerous situations. It’s also more convenient for the disabled and the elderly who (5) _________ mobility disadvantages to move from one place to another.
Exercise 6. Put the words in the correct order to make sentences.
1. work / ride / long / How / does / you / take / motorbike / to / your / it / to /?
2. of / interesting / friends / are / Some / think / my / documentaries / not /.
3. display / watch / Year’s / Do / you / New / fireworks / on / Eve / often /?
4. cars / will / modern / There / replace / be / driverless / cars / to / normal /.
5. playing / Do / like / ice / you / hockey / know / Canadians /?
Exercise 7: Fill each blank with the correct form of the verb in brackets.
1. We believe that bullet trains ___________ (be) faster, safer and riders can avoid traffic jam.
2. Helen’s mother ___________ (buy) her this violin last Christmas.
3. At the moment these students ___________ (collect) some cardboard for building dollhouses.
4. Every Friday, Alex ___________ (join) different community activities with his friends after school.
5. Jack ___________ (not feel) well now so he cannot help his friends fix the solar panels.
6. The Scottish people ___________ (build) this castle long time ago.
7. The plane ___________  (carry) more than 120 passengers at present.
8. I hope we  ___________ (own) a driverless car in the coming time.
9. My desktop ___________ (not work), so I can’t send you my email immediately.
10. I ___________ (think) Jimmy friendly and generous when I first met him yesterday.
Exercise 8. Choose the best option to complete each sentence. Circle A, B, or C.
1. We use these ___________ to warn people about the dangers.
A. vehicles                        B. road signs                    C. handlebars
2. Tom’s performance at Christmas was so ___________ that everyone stood up to give him an applause.
A. dull                              B. shocking                      C. gripping
3. Some people believe that we should ___________ nuclear power in the long run due to its toxic.
A. reduce                          B. overcool                       C. perform
4. Some people are using vehicles that run ___________ safer energy for an eco-friendly environment.
A. over                              B. on                                 C. in
5. Everything belongs ___________ history is often priceless, such as ancient castles in Scotland.
A. about                            B. to                                 C. on
Exercise 9. Read the passage. Circle the best answer A, B, or C to each of the questions.
If you are a big fan of Doraemon, a Japanese cartoon series, you will realise that there are some magic gadgets that can transport people from one place to another in a super modern way. They are imaginary products that reflect people’s desire to invent future means of transport. One of the most popular ones is the bamboo-copter. It has a semi spherical base connected with spinning rooters by a thin shaft. Just putting it on any part of the body, Doraemon and his friends can fly anywhere they want by just thinking. It looks small but can carry a heavy body. Although it runs on batteries, it doesn’t pollute the environment. However, sometimes users can have a big problem if the battery is flat, especially when they cross a vast ocean or desert.     
1. What is the passage mainly about?
A. A desire to invent a modern means of transport.
B. An imaginary means of transport in a cartoon series.
C. A magic gadget of Doraemon that can save the world.
2. What does the word They in line 3 mean?
A. Magic gadgets.
B. Doraemon and his friends.
C. Cartoon series.
3. Where can we put a bamboo-copter?
A. On a semi spherical base.
B. On a thin shaft.
C. On any part of the body.
4. How can Doraemon and his friends fly with a bamboo-copter?
A. By thinking.
B. By using a control button.
C. By touching continuously.
5. Which of the following statements about a bamboo-copter is true?
A. It runs on wind energy.
B. It must be very big to carry a heavy body.
C. If we use it to cross oceans, we can have trouble.
Exercise 10. Complete the reading passage. Write ONE suitable word in each blank.
Scotland is a country full of fascinating things. It (1) __________ a long history of myths and legends, so it's no surprise that the Unicorn is the national animal. This country is home to a more-than-2,000-year yew which is considered the oldest tree (2) __________ Europe. Edinburgh is well-known as the capital of Scotland, but it is not the largest city in Scotland. In fact, Glasgow is the largest and also the UK’s first UNESCO City of Music. (3) __________ you search for the traditional male clothing of Scotland, you definitely see many images of kilts. Scottish men (4) __________ kilts on some special occasions like weddings, St Andrew's Day, etc. Watching them play football or tug of war in kilts is really interesting. Scotland has many (5) __________ things for you to discover, so you should go and see it someday.     
Exercise 11:Put the words in the correct order to make sentences.
1. cross / You / crossing / the / at / the / road / should / zebra /.
____________________________________________________________________
2. reviews / fantasy / received / That / film / many / very / good / exciting /.
____________________________________________________________________
3. are / be / festival / some / There / going / dances / to / traditional / at / the/ .
____________________________________________________________________
4. solar / now / heating / Some / are / using / energy / for / people /.
____________________________________________________________________
5. is / Christmas / she / abroad / but / Alice / home / always / returns / studying / at /. 
____________________________________________________________________







HANDOUT 67: PRACTICE TEST 1
I. Choose the word that has underlined part pronunced differently from the rest
[bookmark: OLE_LINK1][bookmark: OLE_LINK2]1. a. solar		b. fossil		c. hydro		d. slogan
[bookmark: OLE_LINK59][bookmark: OLE_LINK60][bookmark: OLE_LINK3][bookmark: OLE_LINK4]2. a. abundant		b. consumption 	c. sunlight		d. pollution
[bookmark: OLE_LINK5][bookmark: OLE_LINK6]3. a. certain		b. carbon		c. coal			d. convert
4. a. heat		b. cheap		c. instead		d. easily
5. replaced		b. limited		c. trapped		d. walked
II. Choose the word that has different stress pattern
1. a. machine		b. carborn 		c. harmful		d. turbine
2. a. generate		b. natural		 c. effective        	d. energy
3.a.limit 		b. replace		c. panel 		d. hydro 
4. a. recycle  		b. pollution 		c. abundant		d. biogas 
5.a.  nuclear		b. solar 		c. resource		d. shortage 
III. Fill in each blank with an appropriate word.
1.________________energy resources include coal, oil, natural gas and uranium.
2._______________energy creates clean, renewable power from the sun.
[bookmark: bookmark2]3. We need to look for ways to reduce our carbon___________.
4. Coal is a ___________fuel that was formed millions of years ago.
5. Renewable energy sources will never_____________out because they are easily replenished.
6. Burning fossil fuels emits a lot of pollutants that are_____________to the environment.
7. Solar__________________ are fitted to building and turn the sun’s ray into energy
8. Some countries are ___________coal with natural gas because natural gas is less
polluting than coal.
[bookmark: bookmark3]IV. Choose the best answer, a, b, c or d to complete the sentence.
1. Once non-renewable energy sources are used_______________they are gone forever.
a. out                              b. up 	 c. for                         	d. off	
2. Many chemicals have a damaging effect ______________effect environment.
a. on 			b. in 				c. to 			d. for 
3. Renewable energy  is also called”____________energy” because it doesn’t pollute the air.
a. inexhaustible        b. available 	   c. clean 		d. dangerous 
4. ____________ the pollution it cause, coal still plays an important role in the production of electricity around the world .
a. Despite                  b. Due to                                  c. Even though            d. However
5. What ________if  carbon dioxide levels continue to increase?
a. happen	                   b. will happen                    c. will be happened  d. will be happening
6. The use of wind energy is growing rapidly because it is widely available and	.
a. environmental friendly                                         b. environmental friendly
[bookmark: OLE_LINK35][bookmark: OLE_LINK36]c. environment friendly	d. friendly environmental
7. Using solar panels at home can help	your electric bill and your carbon footprint.
a. reduce	b.	increase	c. provide	d. convert
8. Wind power is the most promising	source of energy.
a. non-renewable	b.	natural	c. limited	d. alternative
9. You can save much water by	.
a. using energy saving light bulbs	b. using biogas for cooking
c. taking showers instead of baths	d. walking or riding a bike to school
10. ‘Is it difficult to reduce our carbon footprints?’ ‘________________’
a. It depends on the way you think.	b. Not at all. Just practicing the 3R’s.
a. It’s not if we still rely on fossil fuels.	d. I’m not sure. What will happen?
V. Write the correct form or tense of the verbs in brackets.
1. Humans ___________________(fuse) the power of moving water for more than 2,000 years.
 2. I’ll call you at 8 o’clock tonight. What ____________(you/do) then?
3. At present, global demand for  energy__________(increase) rapidly.
4. Three years  ago. we____________9install) a solar water heating system on our roof 
5. What _____________(happen) if non-renewable resources run out?
6. A small hydropower plant_________________(build) on the river in ten years time.	.
7. If the electricity________________(make)from wind turbines, it is green.
8.  Burning fossil fuels ________________(emit) gases that are harmful to the environment.
9. We decided___________(invest) our time and effort on this new research project 
10. You should avoid _______________(use) cars or motorbikes for short trips.
[bookmark: bookmark4][bookmark: OLE_LINK43][bookmark: OLE_LINK44]VI. Write the correct form of the words in brackets.
1. Solar, win, and hydro are renewable and _______________________(exhaust)
2. Coal is also _________________, there is a large reserve globally.(plenty)
3. The movement of waves anf tides can be able to generate_______________(electric)
4. Scientists are looking for clean and_____________sources of energy.(effect)
5. Non-renewable sources are not___________________friendly and can have serious effect on our health.(environment)
[bookmark: bookmark5]6. Natural gas is less_______________than coal or crude oil(pollute)
7. Energy resources are often _____________as renewable or nonrenewable, (category)
8. Turning off electrical appliances when they are not m use is a great way to reduce energy_______________(consume)
VII. There is one mistake in each sentence. Find and correct it.
1. The burning of fossil fuels is harmful for the environment and public health.
2. Solar energy can convert into other forms of energy, such as heat and electricity.
3. Solar power is by far the more popular renewable energy source.
4. Within ten years, people will be used less fossil fuel and more renewable energy.
5. Using solar energy instead fossil fuels can help reverse the effects of global warming.
6. Many people living in rural areas use biogas to cook, and heating.
7. Wind power is clean, abundant, widely available, and environmental friendly.
8. One of the ways you can save energy in your home are to use energy saving light bulbs.
VIII. Write the questions for the answers.	
What causes carbon emissions?	How can I reduce my carbon footprint?
How does carbon footprint affect us?	What“ is a carbon footprint?
How can I calculate my carbon footprint?
1. [bookmark: bookmark7]A:_____________________________________________________________________
B: It is the amount of greenhouse gases - primarily carbon dioxide released into the atmosphere by human activities.
2.A.___________________________________________________________________
B. The burning of fossil fuels in the environment.
3. A. _____________________________________________________________________________
B. Carbon emissions contribute to climate change, which can have for humans and their environment.
[bookmark: OLE_LINK29][bookmark: OLE_LINK30]4.A:_________________________________________________________________________
B: You need to work out your  energy use, water use and waste disposal.
5. A:_______________________________________________________________________
B: Turn off lights, TVs, computers when you do not need them. Walk or ride your bike instead of using cars. Reduce the amount of trash you create by recycle and reusing items 
IX: Choose the correct answers to complete the passage 
[bookmark: OLE_LINK31][bookmark: OLE_LINK32]CARBON FOOTPRINTS
	1. a. number
	b. quality
	c. amount
	d. period

	2. a. As
	b. Although
	c. However
	d. Due to

	3. a. for
	b. to
	c. on
	d. in

	4. a. small
	b. large
	c. free
	d. fine

	5. a. when
	b. what
	c. why
	d. how

	6. a. replace
	b. reuse
	c. increase
	d. balance

	7. a. fossil
	b. leaded
	c. smoky
	d. green

	8. a. moving
	b. lowering
	c. rising
	d. falling


Everybody has a carbon footprint - it's the(1)__________ _____ of carbon dioxide we produce with any action or activity.(2)__________________carbon dioxide contributes to 'greenhouse gases', our carbon footprints have a direct impact( 3)________________the environment. You can estimate your carbon footprint on any number of popular websites: if it's (4)____________, then you're probably leading a relatively green lifestyle. But(5)______________happens if it's big?
Well, the answer is that you can(6)______________it. This modern answer to the problem is for people to contribute to balancing the negative effects of their actions by using (7)_________________ fuels, recycling, reforestation and a number of other activities which are said to contribute to a lowering of (8)_________________carbon dioxide.





X. Read the text carefully, then do the tasks.
SOLAR ENERGY
Sunlight carries huge amounts of energy. You can feel the Sun’s energy when sunlight warms your skin on a summer day. To capture the Sun’s energy, scientists have developed solar cells, called photovoltaic cells. These cells convert sunlight into electricity.
When sunlight hits a solar cell, some of the light energy is absorbed. This light energy causes the particles in the solar cell to move faster, and the movement of these particles creates electricity.
[bookmark: OLE_LINK33][bookmark: OLE_LINK34]In some places, large panels of solar cells harvest sunshine to make electricity for homes and businesses. Solar cells have been placed on cars and appliances, too. Since the Sun sends abundant free energy streaming toward Earth 24 hours a day, people in many parts of the world, not just the sunniest places, have fixed solar cells and solar panels on the roofs of their houses or businesses to lower their energy costs.
Experts say that the huge installation of solar panels in sunny regions could generate
enough electricity to supply an entire country. Capturing this energy can help overcome our diminishing energy supply. New ways  to capture this energy are being developed an
the time to maximize efficiency.
1. What is the source of solar energy?
a. sunlight                               b. photovoltaic cells 
c. solar panels                       d. electricity
 2.  Solar cells are used	
a. to collect energy from the sun 		b. to provide sunlight to houses
 c. to convert sunlight into electricity             	d. both a and c are correct 
3. Which of the following statements is true?
a. Solar cells absorb all of the light energy from the sun.
b. The light energy causes the particles to move faster to make electricity.
c. Solar energy can be used to power homes and businesses only.
d. Large solar panels have been placed on cars and appliances.
4. As used in line 9, ‘abundant’ most nearly means	.	
a. unlimited                b. dangerous              c. plentiful              d. clean
5. Where have people fixed solar panels?
a. In the sunniest places		b. Anywhere outside their houses
c. Inside their houses		d. On the roofs	of their houses
6. As used in line 14, ‘diminishing’ most nearly means	.
a. decreasing			b. increasing
c. unending			d. restoring
7. According to the passage, all of the following statements are true EXCEPT
a. the Sun produces a large amount of energy.
b. solar energy could provide enough electricity for the whole world
c. scientists are constantly developing new ways to capture the Sun’s energy
 d. people use solar energy to reduce their energy costs.

XI. Make sentences using the provided keywords.
Solar energy/ can/ use/ heat/ water/ homes
__________________________________________________________________
2. within 20 years/ fossil fuels/ will/ replace/renewable sources.
____________________________________________________________________
3. this time next moth/ we/ will/ use/ solar power/ heating/ water 
____________________________________________________________________
4. fossil fuels/ limted/ and/ they / harmful/ the environment.
____________________________________________________________________
5. Climate change/ cause/ the burning/ oil and coal/ in order/ produce energy
____________________________________________________________________
6. Last year/we/ fit/ solar panels/ our house/ provide/solar electricity.
____________________________________________________________________

7. Every day/ we/rely/ energy/ provide/ us/ electricity, hot water, and fuel.
____________________________________________________________________
8.  electric cars/ more/ popular/ petrol cars/ the next 15 years?
___________________________________________________________________
HANDOUT 68: PRACTICE TEST 2
I. Choose the word that has underlined part pronounced differently from the rest. 
1. a. diverse 		b. crime 		c. disease 		d. violence 
2. a. death 		b. peaceful 		c. wealthy 		d. spread
3. a. overcrowded 	b. populated		c. polluted 		d. advantaged
4. a. city 			b. space 		c. spacious 		d. peaceful
5. a. homeless 		b. problem 		c. poverty 		d. solve  
II.  Choose the word that has different stress pattern. 
1. a. peaceful 		b. disease 		c. shortage 		d. spacious 
2. a. commit 		b. healthy 		c. standard 		d. poverty
3. a. malnutrition 		b. population 		c. overcrowded 	d. accommodate 
4. a. criminal 		b. density   		c. nutrition 		d. megacity   
5. a. populated 		b. explosion 		c. economy 		d. diverse
III.  Complete each sentence with an appropriate word in the box. 
	  overcrowded           poverty           population           disease   
  wealthy                   slum               crimes                  effects



1. The _______________ of overpopulation are quite severe.
2. More than half the world's _______________ live in urban areas. 
3. The city of Auckland is so _______________ that it is paying people to leave.
4. The largest _______________ in Mumbai is called Dharavi. 
5. The _______________ is easily preventable with a vaccine. 
6. People living in poverty are more likely to commit _______________. 
7. Only _______________ people could afford to travel abroad.
8. Because of their _______________ they did not have the means to spend much. 
IV.  Choose the best answer a, b, c or d to complete the sentence.
1. In 2019, the population _____ Jakarta is over 10.5 million. 
a. in		b. with 		c. of 			d. for 
2. It is not unusual to be stuck in traffic _____ several hours during rush hour. 
a. in   		b. for 			c. at 			d. to
3. People living in a city want to spend _____ time in traffic jams.    
	a. more 	b. less 			c. fewer 		d. much
4. Because of _____ poverty, Mumbai can be a difficult place to live.  
	a. its 		b. it's 			c. his 			d. theirs
5. The population _____ of London city is 5,590 people per square kilometer. 
a. growth 	b. explosion 		c. density 		d. decline  
6. Many countries have the problem of overpopulated cities, _____? 	
a. do they 	b. haven't they     	c. doesn't it 		d. don't they 
7. _____ there are still thousands of homeless people living on the streets, it is fewer than in the past. 
a. As 		b. Though 		c. Because 		d. While 
8. Overpopulation is a serious problem which is _____ the world in negative ways. 
a. facing		b. solving 		c. causing		d. affecting 
9. We will be successful if we try hard, _____?  
a. don't we 	b. will we 		c. won't we 		d. do we 
10. "Life must be very difficult with homeless people." 
“_____. They have to face many problems beyond the lack of a suitable home." 
a. Not really. 	b. No doubt. 		c. Of course not. 	d. Not at all. 
V.  Write the correct form or tense of verbs in brackets.
1. In 2016, more than half of Mumbai's population ___________ (live) in slums.
2. Many people ___________ (move) from small towns to big cities in recent years
3. The world's population ___________ (grow) at a startling rate 
4. In the next forty years, the earth ___________ (accommodate) nearly 3 billion more people. 
5. London ___________ (be) one of the most populated cities of the world.
6. At this time tomorrow, we ___________ (visit) Dharavi slum in Mumbai. 
7. No one ___________ (want) to be homeless-it's dangerous and stressful 
8. The Dharavi slum ___________ (found) in 1883 during the British colonial era. 
9. City governments need ___________ (find) a solution to reduce traffic jams 
10. They don't mind ___________ (help) the people who are in need. 
VI.  Write the correct form of the words in brackets.
1. Today, we suffer from a population ___________. (explode)
2. Jakarta is the most ___________ city in Southeast Asia. (populate)
3. The policeman ordered the ___________ to drop his weapon. (crime)  
4. Approximately one-third of Dhaka's residents live in___________ . (poor) 
5. The population ___________ of Vietnam is 293 people per square kilometer. (dense)
6. Many of the refugees are suffering from severe___________ . (nutrition)
7. London's population makes it by far the ___________ city in the UK. (large) 
8. Rapid growth of the city has led to a housing ___________. (short)
9. Do you think overpopulation is a cause of ___________ in the world? (hungry)
10. Children living in severely ___________ homes often have no space to play, study and develop. (crowd) 
VII.  There is one mistake in each sentence. Find and correct it. 
1. In 2050, the world's population will grown to 9 billion.
2. Traffic congestion has become a serious problem in big cities, doesn't it? 
3. The amount of motorbikes should be limited to reduce traffic jams 
4. Nearly one million people live in Dharavi, the largest slum of Mumbai 
5. Forest areas are destroy to make space for new houses. 
6. Less than thirty children each year develop the disease. 
7. There are social causes of homeless, such as a lack of housing, poverty and unemployment. 
8. Your father used to drink coffee every morning, usedn't he?
VIII.  Match sentences 
1. Are people's lives affected if the 		a. Reducing births around the world
population increases? 
2. What is the current world population? 	b. It could lead to higher levels of pollution. 
3. What can we do to stop overpopulation? 	c. 3.1 people per sq km.   
4. Overpopulation is a serious problem,		d. Yes, of course.   
isn't it?
5. How does overpopulation affect the 		e. Sounds awful! Something must be done environment? 					    to solve this problem. 
6. Many poor people in the city live in 		f. That may be true. 			
slums because of a housing shortage. 
7. What is the population density of		g. 7.7 billion   
Australia?
8. There won't be enough food to feed the 	h. Yes, it is. 			
world in 2050, will there?
IX.  Choose the correct answers to complete the passage. 
Is life (1) ______ in cities? Probably not. Many people find that the city of their dreams has become a nightmare. Population (2) ______ is causing unbelievable overcrowding. This overcrowding (3) _____ many serious problems: traffic, pollution, sickness, and crime. There isn't enough water, transportation, or housing. Perhaps, most serious (4) _____ all, there aren't enough jobs. One-third to one-half of the people in many cities in developing nations cannot find work or can find only (5) _____ jobs. Millions of these people are hungry, homeless, sick and afraid. The crisis is worsening (6) ______; that is, this time of danger and difficulty is becoming more horrible every day. Population (7) _____ tell us that by the year 2025, the population in cities in developing nations will increase to four times (8) _____ present size.  
1. a. good		b. better 		c. best 			d. gooder
2. a. density		b. exploit 		c. decline 		d. growth 
3. a. causes 		b. makes 		c. forms		d. solves 
4. a. of 		b. for 			c. at 			d. in 
5. a. permanent 	b. well-paid 		c. part-time 		d. full-time 
6. a. yearly 		b. monthly 		c. daily 		d. weekly 
7. a. teachers 	b. experts 		c. tellers 		d. reporters 
8. a. their 		b. theirs 		c. it's 			d. its 
X. Read the passage carefully then do the tasks.
[image: ]
China has more people than any other country in the world. China is almost equivalent, land-wise, to the United States. However, China has a much larger population.
 The bars on the graph above compare the populations of China and the United States. Over 1,300,000,000 people live in China. This is four times more than the number of people who live in the United States! 
Many Chinese live in cities. As people move to the cities, the cities grow. People build houses and businesses on land that was once used for farming. Then the land can no longer be used to grow crops. This makes it hard for China to grow enough food for its people.
The government was not sure there was enough food to feed people in the growing cities. So lawmakers tried to keep the cities from growing. The government even made a law to control population growth. The law said that most families living in cities should only have one child. Parents who have more than one child would have to pay a fine. 
A. Match the words with their definitions. 
1. equivalent 			a. food that is farmed 
2. land-wise 			b. a sum of money given when a rule or law is broken 
3. crops 				c. the increase in the number of people in a place 
4. population growth 		d. alike in size 
5. fine 				e. relating to land 
B. Choose the correct answers. 
1. This passage is mostly about _________ 
a. the differences between China and the United States. 
b. the size of China's population and where people live. 
c. laws in China about the population. 
d. why it's hard to have children in cities. 
2. According to the passage, China's population is ________
a. about equal to the U.S. population 
b. about half of the U.S. population 
c. about four times larger than the U.S. population 
d. only a tiny bit more than the U.S. population 
3. Why does the author use the bar graph? 
a. To compare whether China or the U.S. is a better country 
b. To show that China is smaller than the U.S 
c. To help the reader compare the populations of China and the U.S 
d. To prove that China's population has grown dramatically. 
4. Based on information in this passage, it can be concluded that _______ 
a. it would be better if people only lived in city areas. 
b. many Chinese people want to move to other countries. 
c. there is enough land in China to grow food for everyone. 
d. the Chinese government is worried about the population growth. 
5. Which of the following is NOT true? 
a. China covers roughly the same land area as the United States 
b. All farmland in China was converted into homes. 
c. The government of China was worried about food shortages. 
d. China adopted a one-child policy to control population growth. 
XI.  Make sentences using the provided key words. 
1. the world/ there/ many cities/which/ facing/ overcrowding.
_________________________________________________________________
2. Saigon/ most populous city/Vietnam/population/ 8.6 million 
_________________________________________________________________
3. overpopulated cities/ public transport/ usually/ overcrowded/ especially/ rush hour. 
_________________________________________________________________
4. large numbers of people/ move/ the countryside/the cities/ in recent years.
_________________________________________________________________ 
5. There/ more/ job opportunities/ the big cities/ the rural areas/ aren't? 
_________________________________________________________________
6. Local governments/ have to/ find/ solution/housing shortage.
_________________________________________________________________
7. A lot of people/ who/ homeless/suffer/ health problems 
_________________________________________________________________
8. Over the next ten years/ the population/ the world/grow/ by 1 billion.
_________________________________________________________________
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